Name:_____________________
Parallel & Perpendicular Lines

Vertical & Horizontal Lines

Math 220 – Fall 2009

Instructions:  Follow the instructions for each problem set.

1.
Indicate whether the set of lines is parallel, perpendicular or neither.  Show 


mathematical proof that your answer is correct.

a)
y  =  -1/5x  +  1/3



b)
x  (  y  =  1/2

3x  +  15y  =  0




3x  =  1/2  +  y
c)
3y (  x   =  6




d)
6  +  4x  =  3y


y  =  3x  (  9





3x  =  8  (  4y

e)
6x  =  5y  +  1




f)
10  =  5y  (  3x


10y  =  1  +  12x




1  =  5x  +  3y

2.
Give the slope of a line that is i)  parallel (label as m| |)  &  ii)  perpendicular (label as 

m(() to the line 
described by the given information.  (Every problem will have 2 
answers!)
a)
-3x  (  4y  =  6




b)
Thru  (-6, 2)  & (1, 4)
c)
Any vertical line



d)
24x  =  3y  +  5.7

2.
Continued

e)
Thru  (5, 7)  &  (-3, 7)



f)
x  =  4

3.
Tell which lines are vertical, horizontal, through the origin or neither.

a)
2x  =  5y  +  1




b)
0x  +  y  =  1

c)
Perpendicular to y =  9


d)
-3x  (  4y  =  0

e)
Parallel to  y  =  -3/4 x



f)
x  =  9/200
4.
Give the equation of the line described by the given information.  Write your final 


answere for very line in slope-intercept form (unless it is vertical).

a)
Perpendicular to y = 5, thru (1, 2)


b)
Vertical thru (0, 2)

c)
Parallel to y = -2x  +  3, thru (4, 0)


d)
Undefined slope, 










thru (-3/4, 1)

e)
Horizontal thru (-7/3, -2/5)



f)
( to 3x  +  2y  =  7










thru (3, -5)

g)
Parallel to (5, -3) & (2, -3) and thru (7, -1/10)
